@3
a
@\\ eco

PASS
PORT. :hager

Product Environmental Profile
LED sig. light white A.x/C.x wh. Glossy

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Provide signaling notices, information or warnings, with adjustable luminous intensity through a dimming

Reference product identification
function, operating at 10 V and 60 Hz, for a reference service life of 10 years under residential use conditions.

WAF6582W G

Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
product.

3.15 Other equipment

PEP ecopassport 1/5 HAGE-01486-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
] % ] % ] %

PC 31.04 28.0% Steel 18.29 16.5% Cardboard 32.48 29.3%

Epoxy resin 1.87 1.7% Stainless steel 0.90 0.8% Paper 14.00 12.6%

PET 0.73 0.7% Copper 0.50 0.4% Wood 2.63 2.4%

PE-LD 0.53 0.5% Cast iron 0.45 0.4% Alumine 2.21 2.0%

Nickel 0.20 0.2% Glass fiber 2.11 1.9%

Other 0.40 0.4% Other 2.40 2.2%
';:‘t:ilar;nianzs:of reference product with raw material 110.74 g
Total mass of reference product 105.36 g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation (VET) End of life Module D

o
=
. © 7]
= o
o = o 20 k=
c = = c Q o Q0 ©
i) |3} 13 c ] 5 = = = = S
2 8 S S 53 3 ] s 5 9
g2 = o o © c® 5T = 2 o oo c = =35 ® 3
= £ c c o2 = 5 = os o c c £ o 2 5 S @ o 2 o Qo
< e @ = c @ @ =20 e 9] S S T ) - E b7 = =
@ 5 a c a @ 2 < . g <} T 8 S8 = b » © ol c
o9 £ 2 S8 58 o £ 5 5 ® £® @ S 63 T > 2 2
T O © S e 2w 35 5 2 g s 3 o 5o T a8 = S &2
&3 2 © 5] © © |5 o] o S o 9] 3 @ 2 =z @ a LR
= B a S a > = O © i =) L a = >
=4 £ 2 = £ 1] 7} o >
[CREeN =] = O T O © T c 4 = 7] S5 5 > c ° 3 2 2
= o] c < 0 = 0 o © [ Q o 2 £ (<] = 0 (=) s »
il = I} 2 @ [z} 52 ° 7} o @ oo o} S35 c 5 o
ES| % = 8a £3a 0o = 4 = c5 o< a -8 3 2 22
= © <3 o ) 3o ) 5 = Eg a5
T @ < < =1 = 2 o T o c
@ 2 = = 0:3 © £ o 2 o
e [im} = F 2 2
= a o
2
k]

=X] B4

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0.25 30.0% 0 70.0% 0 0.0% 0 0.0% 0 100.0%

This corresponds to a total energy consumption of 13.14 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Const and mai 1an

None

PEP ecopassport 2/5 HAGE-01486-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 42%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe Europe Europe Europe

tal impact ind

P
Envir

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit A1-A3 A4 | A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 5.67E-03 2.73E-05 1.46E-04 1.82E-02 3.18E-04 2.43E-02 -2.36E-04
Climate change - Total (PEF-GWP) kg CO2 eq. 5.12E-01 1.75E-02 1.20E-01 3.07E+00 8.91E-02 3.81E+00 -9.65E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -5.54E-02 2.87E-05 7.33E-02 1.20E-01 2.06E-03 1.40E-01 -5.26E-04
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 5.67E-01 1.74E-02 4.66E-02 2.95E+00 8.70E-02 3.67E+00 -9.59E-02
Climate change-Land use and land use change

kg CO2 eq. 4.70E-05 2.64E-08 4.67E-10 1.03E-07 4.33E-10 4.71E-05 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 4.30E+00 5.00E-01 6.89E-01 6.00E+00 1.20E+00 1.27E+01 -1.34E-01
EF-particulate Matter (PEF-PM) neceneest 2.05E-08 2.35E-10 8.59E-10 1.59E-07 3.43E-09 1.84E-07 -5.08E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 1.54E-05 6.51E-08 6.69E-07 1.40E-05 1.24E-06 3.14E-05 -1.11E-05
Eutrophication, marine (PEF-Epm) kg N eq. 4.18E-04 4.96E-06 6.18E-05 1.83E-03 5.98E-05 2.37E-03 -4.32E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.99E-03 5.45E-05 4.52E-04 3.54E-02 6.59E-04 4.15E-02 -5.24E-04
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.03E-08 3.38E-12 5.33E-09 4.11E-09 8.00E-09 2.77E-08 -3.17E-10
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 1.00E-08 6.45E-11 1.50E-10 1.37E-08 1.79E-09 2.57E-08 -1.21E-09
lonising radiation, human health (PEF-IR) kg Bqg U235 eq. 1.90E+00 6.11E-04 7.51E-03 7.41E+00 3.46E-03 9.32E+00 -8.68E-04
Land use (PEF-LU) No dimension 3.48E-01 1.15E-04 4.61E-03 4.90E+00 1.18E-01 5.37E+00 -4.22E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.53E-08 2.03E-10 7.29E-10 2.91E-08 7.20E-09 5.25E-08 -2.38E-09
:’F',‘é’gf;hggga' ozone formation - human health |\ ¢ NMVOC eg. 1.61E-03 1.76E-05 1.02E-04 5.88E-03 1.97E-04 7.81E-03 2.10E-04
Resource use, fossils (PEF-ADP) MJ 1.55E+01 3.10E-01 4.79E-01 9.77E+01 9.36E-01 1.15E+02 -4.56E-01
At T [IEEDER (s 8.69E-05 6.326-09 1.12E-08 1.10E-05 3.98E-07 9.83E-05 -5.90E-07
(PEF-ADPe)
Water use (PEF-WU) 9.37E-01 6.41E-04 4.04E-03 1.94E-01 1.23E+01 1.34E+01 -1.01E+01
Resource use indicators
. Manufacturing Distribution Installation [VET End Of Life

Indicators A1A3 A4 | A5 | B1-B7 | c1-Ca | GLOBAL ‘ Module D
Net use of fresh water 2.19E-02 1.49E-05 3.19E-04 4.70E-03 3.41E-01 3.68E-01 -2.48E-01
Total primary energy 1.89E+01 3.11E-01 5.79E-01 1.62E+02 9.97E-01 1.83E+02 -1.09E+00
Total non renewable primary energy 1.55E+01 3.10E-01 4.79E-01 9.77E+01 9.36E-01 1.15E+02 -4.56E-01
Total renewable primary energy 3.40E+00 1.27E-03 1.00E-01 6.45E+01 6.17E-02 6.81E+01 -6.34E-01
Non renewable primary energy used as energy 1.42E+01 3.10E-01 4.79E-01 9.77E+01 9.36E-01 1.14E+02 -4.56E-01
O OIC UMER RSOV ESEEES (B 1.20E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.20E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 2.54E+00 1.27E-03 1.00E-01 6.45E+01 6.17E-02 6.72E+01 -6.34E-01
Renewable primary energy used as raw material 8.59E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 8.59E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01486-V01.01-EN



Waste category indicators

Indicators

Manufacturing

Hazardous waste

disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 1.20E-03 0.00E+00 3.99E-03 0.00E+00 0.00E+00 5.20E-03 0.00E+00
Materials for recycling 1.03E-02 2.96E-12 3.64E-02 3.52E-07 5.20E-12 4.66E-02 0.00E+00

Indicators

Biogenic carbon content

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
3.25E-02 1.50E-02 2.63E-03 5.01E-02
Biogenic carbon content (declared unit) 9.09E-03 5.68E-03 1.04E-03 1.58E-02
Biogenic carbon content (functional unit) 9.09E-03 5.68E-03 1.04E-03 1.58E-02

ADEME APESA/RECORD EN 16485

Prod dboard T Yy

a 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon content (de 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bon conte 0 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Packaging

7.63E-01

Distribution

Ad
7.36E-05

Installation
A5 B1-B7

3.21E-03

C1-C4
1.04E-02

End Of Life |

GLOBAL

0.00E+00

2.04E-01

1.62E-03

1.38E-02 5.42E-01

6.97E-05

7.61E-01

0.00E+00

7.28E-05

1.28E-06

3.15E-06

1.39E-04

4.11E-08

2.17E-04

0.00E+00

Manufacturing

Distribution

Al

Installation
A5 B1-B7

C1-C4

End Of Life |

GLOBAL

Cardboard

Extrapolation rules

Additional references (see Appendix) covered by PEP, the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA). The impact values are either directly calculated
by LCA or by extrapolation following PEP Ecopassport rules. However, some of the detailed conditions applied in those cases may differ from the main reference.

Verification

PEP-PCR-ed4-2021 09 06
PSR-0005-ed3.1-2023 12 08

Information and reference documents: www.pep-ecopassport.org

Drafting Rules
Registration N°:  HAGE-01486-V01.01-EN

Supplemented by

Verifier accreditation N°:  VHG5
Date of issue: 3-2026

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Validity period: 5 years

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01486-V01.01-EN



Appendix

- =
= 8
g o
o e}
o >
o = =
o o = — z
- = = | & =| 2 2 | %5 5
— o — [l = = 8 3 = = 2 =
gl 3| & = : =| 2
o g ) z | = ] = 2 S = | = - 3 = =)
@ I @ 2 = S 5 <} = Q = : =
& o N o ) © g z =) 13 Y = g 2 . = = = =)
—lo|lolals=s 2| o 5 51T &8 =&l &|l-|2]|=a : 5|2 = s|2]2
s|lo|l 2|0 | @ 5l 2] s el 5|2 S Sls|8|s|s]|lc]|l=|Bl&]|2]|e |=]|] |2 ]|z
g 21918 Ol 2| 2| < s| Tl 2| e 5 Zl2lElaslalBlzlSlE]l=|s |2 Sl |l =]l 5| =
slelsl2|lysls] 2T 2|2 2lsls212 |2lal=1T8lz12[8|8|2c|E|lal8 |3 = e |5 |3|=
2| 2= = 2 = I = = - = P 5| =
T = & Ei n = . & P £ [ ' S @ o @ o o =t g v 5] E=| 2 5 > = 2 = ©
. o = | = —_ . £ =] = X, £ = w H o = o ]
L = g = = T = i 3 . =) 9 =] = 4 = = £ @ : @ o 3 w D 8 © c |- 8| 2 = = > =} = =
slelzlcs]|slelGlElslalz]lglelolzlale|lo]lcle]lBle|2|le|lec]lq|ls]elF]sale|lT|e|l&]l5|E]E
Elz|a|lz| 8| |ulw|alTlelelelmlZ|e|8lele|ls || c|lsl=z18(lB |8 |c ezl S5]¢E]:=
v [0} Y (0] ] 7 w a w W > @ w w o w @ 5 © ° @ T v = @ 2] ° w |2o| < > 5 ° ® 35
cle |Gl ele|Tle|lu|B|ls|luflelSlelS]l8]lzlelB]l23|6|lslsls]l2]clec|s=2e]le]lc]ls]|s]E]lz=
%Eamgaia&agmeaé&sgﬁga,gogzgm:w:'awswgbi
< [ s| | e o P 8| e S| 3 > < 2 2 |£X £
T I e O s | & 5} e | 3 3 2 | g 8 S| g g o k3 2 15 g | & | & < 8 2 dla|EQle|lz|la|le|o|8|uw
wls |2z |22l Z2]|¢ sl Sl1els|E€]l3|l6le|s]lalaals|lye|uw]|] @658 |csBl8]|E8|le|8)|2]E|x
o 5 & 2 = H @ 3 2 5 3] = o e 7 S 3 & o a 5 ° = = 18 £ 5 2 3 8
= s <) S £ 2 2 ) s 5 2 5 = 2 8 > = ) 2 5 5 g<| 2 ) 8 ® 51 o
s Sl e |z 3 = 2 81 3| 2 5 £ slol 2138z ] g 5 | 5 = I A e - I e H & g
i £ = - £ = e | £ 12| 8 212 g
Slol|la|E]2 E(Zslslel&l2lz128|5|3|e|ls|2|s|5|8)s|&8|c|S|e|52|8u|le|=s]|e]|le|le|ls]:
8 = = =| 8| =% = s | S| =x|= £ S| 3 8 ° s ]2 S S o s | E g8 3] ¢ ° 3 = o o | S
& s | 2] & 2 E 8 15 § X < s|l=2|z]|<|z=s = = o | § 13 s | F = s | « 2 S
5 < 5 = 5 ) 8 = = £ L 2 S I c © @ 3 o T 3 a 218 s c S = =
3 s | 2 S | o 5| < s | 8 = 3|8 = S 2| 3 T 5| = 4 ) 2 | 5| % @
o S 38 S il 8 z ] ] @ L] S = b3
< | e 2 | ¢ £ls)|g|= = 5 21213 | ¢ zlsgle e
© ) T 5y 38 3 = a = s ® 5] I S o o o g x 3 >
E|l T | E ; sl 32| 8 s | g| &g 21 2 £ | € S
= £ £ @ o il w £ = £ =) c o & S “ ]
o E I =3 ] E 2 S £ % P o S
= = :
o & o T 2 z s i = 14
] S z o
2 5
g &
£ 5
© o
2
o

oD M

c < WNGEEEPIEMN  soecs| svcor| sseor| sercor| aroeos| omeo| ssvmco| tsieos| essos] ascon| oooeoo| reseor| somos| roocos| soneco| ssseor| racos| roscor| arsecs| 2meor| remor| 1ameoo| rsseos| zoseos| rstcos] nameos| assweo| asseor| tsseor| swseos| rsseor| reseor| aseoo| omeoo| ooopan| acosco] sareor

=

=

< WWNGERIVEMN  coocco| srcor| siocor| rancor| aczeos| omeoo| ssveco| rrees| sasen| osos| oooeoo| rreao| 1ocs| wracos| coneco| ssseor| raeos| roscor| asscee| 2svcor| trocor| aseoo| 2rsecs| oueos| coros) nescos| asoeco| seseor| tsomor| tsocos| rezr| ssscor| soscoo| osmeoo| oooecof acomco| teseon

8

= VNG EIIEMN  coeco| ssicor| samce| roreor| asreos| omeoo| sireco| 2sees| sasem| ososs| oooeoo| raeeo| rasecs) rerwos| roneao| ssseon| raseas| rowwor| ssece| 2sumor| treor| aieoo| vooccs| zsseos| crosos) rescos| ssseco| seor| tomor| rascos| raor| asiean| a7emoo| osmeoo| ooecof ooomcn| rereon

c

©

= WWGEEERIEIERN  ciocos| roicor| soseaa| rascor| assmos| oooeao| avseor| sswos| swcos| susmas| 7raseos| ssomoo| vessos| asreos| rascor| roscor| rzseos| varene| rssce| suscor| 2zor| rsocan| rr2mcs| sscos| rsweos| srzmos| szoo] ssieor| 2wor| ssneor| zussor| 2ezmor| aoco| ooomuo| owomoo) zwcor| soseor
WNEENTER  coreos| roreor| sowae| nrmmor| ssreos| ooocon| arseor| asseos| soaeos| ssecs| soiwos| saneo| aseos| assece| raseor| voseor| aseos| 1seoa| 132ece| suseor| zaser| rsseon| rescos| sereos| nsreas| sisos| siseo| ssteor| 2wear| sros| zeseor| 2ecen| sooeco| ovomon| oomewo| ziseos| sosear

WNAGBOT soseas| seeor| ssson| ooeor| soocos| ooocao| siser| sson| asteos| sescos| ssoeos| rareoo| waseos| soseco| rameo| somoe| vvoeos| awieos| oes| zuscor] roreior| rowoo| soecos) astece| raseos| raseor] sseor| soreor] vsseor| iseos| sssmor| rsacar| voseio] omocun| ooomco| zareos] ssmeor

WNAB02 awcos| sezeor| aseeon| swcor| asseos| ooveao| rosmce| rncos| arreos| secas| soneos| szmeoo| tzcos| ssmees| roremn| avscor] toseoo| omews| sseos| secor| sror| smean| soros| asicon| rsswos| aseor| sowor| sweor| 1soor| vsscos| ssomor| rsmeor| soroo| oooman| owroo| asecos| ameor

WNA603 awscos| sezeor| aeoa| sseor| asseoo| ooeao| rismce| roscos| aricos| sescas| coneos| sammoo| vrosos| asreos| roreon| avee| toscoo| osews| oseas| swcor| soor| sreon| soros| asacon| vsswos| rasmor| saneor| sweor| 1soeor| vsscos| rsomor| rsaor| voreco| ooomao| owmoo| zscos| ameor
c<

G < VNG PAIEMN  orecs| 1rscon| zomcos| ricce| 2scos| omeoo| soocor| ssicos| eoeon| sssos| oooeco| raseos| swerz| swsert| wrreos| vsssor| ocosoo| asseie| raseos| rszees| avsor| oommoo| zesmrof ssero| rreos| ramcos| rzrecs| coocan| sosor] sszeoo| sroeor| ssveor| rees oomeoo| oooeaof ocomco| sacod

5

2 WNGEECEIIEMN  coece| rssco| soosos| rereee| sieon| omeo| ssreor| roneos| ssos| sascos| ooceoo| rorens| sewiz| ssien| wsreor| raear| acosco| swseie| vsoeos| 1ruees| sssor| ooeoo| zisero| saero| vsosos| rsscos| rsseos| coosan| sssor| ssocoo| ssseor| ssseor| rssecs| oomeoo| oooeaof ooomco| ssogod

=

B4 4 1 1 1| 1 A 1 1 ABE: 1 1,746 ABE1( A 1 1 1. 008 1| 06 1| 3 BRE

8 WVNGEEEEVCMN  2ouccs| rosco| aoocos| sereor| 2sscon| omewo| sareos| roneoe| sueon| sscos| oooeco| revees| seiese| ssent| esreor| amor] ocoeoo| awera| tsoeos| 1rsees| aseor| omeoo| zwerof 2smro| vesos| 1sscos| saeco| ooocm| sssor] sseos| smeor| sseor| rasees] omeoo| oooeaof ooosco] someos
WLF6651BG soseas| rsocoz| rreon| 1soece| 2oreon| ooocan| ssoeor| roveon| ssreos| sweos| ovocoo| raseos| arere| rosers| arieos] srzeos| oooeco| oseon| vasees| sraeos| sameor| oowco| amero] aomerof rsveos| rasos| roeo| omen| sameor| oroeos| szeor| ssieos| toseos) omocun| oooeco| omeco| samea
WWHEEEANVCM  coscos| rsome| r7seos| 1onece| zoreon| oomeco| ssoeor| roeos| ssieos| seseos| oooceo| rosos| amee| resers| srzoe| ssos| ooeo| oomeao| vsceos| r7ees| azseor| oovewo| 2zero| asero voreos| taseos| sosos| omeon| ameor| ereos| saveor| szeor| toseoo| ooveo| oomon| ooseco| ssoeos

WNA601 2oocos| roocee| oeson| roicce| zuscoo| oooeao| asseor| soios| szes| sercas| owosoo| arreos| awere| soenn| srieor| ameos| ooeco| aoocun| rsscos| rereos| 2orcor| ococon| rosero| zareio| zoseos| vioeos| soscor| oomeao| zercar| srmeos| zsreor| zmeor| ooseor| omomon| oomeoo| oooeco| sezeas
WNAG02 suocos| seeea| oweon| rsesce| 2meos| oooeao| asseor| ssocos| asscos| saosos| ocosoo| ssicos| sosero| saenn| sseor| smeos| ooeeo| coomun| rscos| reocos| 2escor| osocon| rsosio| 2secio| armees| vizeos| sarwor| ooneco| zeseor| suseon| zsscor| zereor| sereor| ocomon| oomeo| oooeco| sizeas
WNA603 asocos| seeca| oaicon| rsssce| zsseos| ooomao| asaor| sscos| soosos| sazmos| acoscol ssseos| sorere| senn| sswor] sseos| oceoo| coosun| 1areos| rereos| zemeor| oooeon| roosro| zssero| ameos| 1os| ssesor| ooneoo| zesean| ssseos| zevcor| ameor| sseecs| ovoson| oomeo| oooeco| sasens

c 0

S < WGPV reos| 1meor| rascos| asseco| aoreio) oorun| omeor| soscor] omeos| ssmeos| owoeco| azveeo| swcos| ssoerof rsveos| worcos| someco| seucor] ssoorf ssmecs| arocor| ooocao| rasero] ssero] scseos| siscos| voneor| oomeoo| arscor| sraece| ameor| sroeor| sameor| omeon| ooocan| oooeoo| sosar

©

= WNGEERIVCM  rwcos| 1meor| rsscos| asmeco| soreio) ovoron| omeor| wwcor| sneos| ssacos| owosco| szrews| sweos| ssmerof rsreos| worcos| soseo| seacor| sooeon| ssmecs| arcor| ooocao| rasero] wsero] roseos| swscos| voneor| ooeoo| arscor| sraece| ameor] seon| raneor| omeon| ooocan| oooeco| soean

1%

2 WNGEEEENVIEMN  reocos| raocor| 7wer| sssccr| aorero| omeoo| esocor| soseor| osseos| asacos| oooeoo| azvews| sseos| nsoeo| rsrews| soreos| soeos| asieor| aweos| 1ssece| armeor| oomeoo| raero| ssmero| vomos| aweos| sencor| oooean| areor| rracos| areeor| sreeor| rocor| oseoo| ooecof acomco| soior
WLF6651BG roseor| simeoe| asseee| saoeea| 2wero| ooeoo| ameor| asseor| escos| swcor| ooeco| 1sreas| sreos) rosero| asseos| visn| cseos| aveor| zvscor| roece| asesor| oomeoo| ssmero| sarero| rasos| awscos| sssece| coocan| suscor] trscoo| ssseor| sozeor| assce| oooeoo| oooeaof ooomco| zoon
WINEEINTEM  oscos| srmece| coscce| swocor| zazero| coomon| arcor| asscor| asseos| sreeor| ososoo| roreos| smeos| rosero| aosso| vrasor| zeveos| ane| awecor] roweor| ssseor| ooomon| asero| ezrero| raseos| areos| asscor| ooveco| sasson| 10n| suscor| sseeor| sseca| ovomon| oomeo| oooeco| 2oneas

WNA601 roseor siseoe| ssseco| saaeca| 2esro| oomeoo| smeor| asmeor| warwos| sieos| ooeo| rseas| sziecs| rosero| asews| vies| zwsos| zuceer| iran| roce| sureor| ooveco| ascero| saero raseos| ziseos| assece| owomon| sereor| imseos| sreor| soseor| asseos| ooveaof ooomcn| omeo| zotees
WNABO2 sones| arreor] ssseon| seca| awero] ooocao| smeor| sosor| asteos| sveos| ooseo| rmeos| arieos| sosero| ssseos] vzor| zeoeos| suscos| smeos| roseor] sureor| oooo| ssiero] easerof raseos| aveos| asmeco| omeo| sareon| srocos| sureor| ssseor| ssocos ooocuo| oooeco| omeco| 2steas
WNAB03 sovcos| arreoe| sssceo| sseea| owen| oomeoo| sweor| soneor| socos| areos| oo 1sem| arieos| twsero| sosews| 1| aweos| aseor| sseor| sowoa| surcor| oomeco| sseero| o] 7ascos| rmees| aoneea| owmon| seror| smeos| asor| ssecor| ssscos| ooviof ocomon| owseoo| 2ot
O~
2 VNG PAIEM  rozece| cormon| racor| 2oseao| 1oor| omeoo| sooeco| tsnees| 1sens| asicce| oooeoo| 1rmee| aseos] rareos| rareao| ssocon| owomoo| asacor| smecs| sezeor| ormmor| oomeoo| zorcos| 1sseor| ssos| rwcos| saseor| ooocon| o7meor| trosos| sreor| reoece| sssmor| oomeoo| ooean| aosco] ricor
v
i
m WWNGEERIEMN  cccece| soomoo| zxcor| srzao| 1ooeor| omeoo| tsseor| 2riees| osiens| csscce| oooeco| ssseor| roseos| zscos| raswor| ssocon| ocosoo| sszeor| oriecs| roscan| tsocoe| oomeoo| seicos| soneor| ruce| amcos| rasear| ooocon| rsmece| 2rscos| rsee| swsmoa| rasece| ooneoo| oovean| acosco] areor
WWNGEEEIIEMN  rooece| roimoo| raosaa| 1eco| ssseos| omeo| seoeco| ssueos| t0ecs| ziasce| oooeco| oseor| cuseon] sascoo| aco| zvican| ocosoo| avieor| zsoees| szseor| ssseor| oomeoo| irecos| osaeos| ssicos| ssscos| seror| ooocon| ssseor| ssscos| saser| orseor| ssreor| oomeoo| ocean| acosco] rreor
I rcos| rsosor| ameco| rascor] ooosof oomeco| sosor| arreor| rsscos| raseas| oooeco| sseses| ssreni| smeo| 1rsor| sseos| oseoo| aoosio| aveos| sovece| ssoo| omen| smerof sueos| asucof sssecs| rsscor| ococun| assmoo| smon] siseeo| ssmeo] rsor| oomeoo| omeo] ooocao| smeor
NEENIETIN ercod| sseor| 2mecs| rasor| oooo| ooeo| soseor| svreor| roscos| 1ameco| osoeioo] soesan| srers| smero] irseor| ssseos| ocosico| oooeao| avieos] zonecs| siseoo| omeon| smero| sweos| asas| ssmecs| rsscor| wooco| ssseo| asmeon| sieeo| ssmeo] rsseor| oomeoo| omeco| aoocao| smeor
WNAG01 7socoa| 1| ateeon| taseoo| oomeoo| ooeao| ameco| arseos| smeos| esece| avoeoo| svicor| wssero| asscos| zoscon| soscor| oooeoo| ooveo| 2ececs| zwcor| soseor| ooocan| smeos| srocos| zeeos| ssseos| avecoo| omeoo| seseor| soneor| aweor| ssnmor| ooseco| oooeao| owmoo| oomeoo| 1rseor
WNA602 1st0z| soeoo| osiece| zorean| omoson| oomeoo| sseco| raseoe| 1ssos] zweor| oooeco| rozar| srmeto| sercos| aooeco| sroese| ocosoo| oseoo| swveco| arseor| rareor| ooneoo| saseos| raeor| sescos| wricos| rszor| owocon| rareor| roveos| rareor| smmor| tsemor| oomeoo| ooean| acosco] zaor
WNAG03 1secz| soreoo| osiece| 2oreen| ovocon| oomeoo| aoreco| raseoe| 1sswos) zwcor| oooeco| razear| sreto| sorco| aooeao| srsesa| ocosoo| oseoo| ssrecs| arseor| roreor| oomeoo| rsseos| ramor| sescos| vrcos| rszor| ooocon| rsreor| roveos| rareor| armor| rsemor| osmeoo| ocean| acosco] zaor

o <

= siscor| ssreea| 2oseas| sroec| assero| oooeao| 1aomco) rausos| ssecos| ssseos| oooeco| rouor| soosos| irecs| ssseas| riseor| ocoeoo| samere| sareor| soreos| osoeor| oooean| raecs| suseoo| rsreos| asveos| sireca| omeo| wsseor| sosecr| oseor| woror| errece| oooeao| ooomoo) owseo| saseor

= WAF6582WG

= -

50 WNGERIVCM  soeos| 1roeor| siocos| soneon| asoeto) oorun| 1rseco| ratcos| cares| roscos| omeo| rerees| 1soccs| ssseos| asmeos| rseor| wooceo| szrea| asieon| rameos| arscor| ovocan| reseos| aseos| soseos| smecs| sueon| oooo| areor| asseor| smeor| roseon| oseca| omeo] oocan| oooeoo| sameon

o

& WNGEEEEIVICMN oo rovcor| aweos| oscor| amero| omeo| 17emco| asees| saneos| corcos| oooeoo| triems| 1aos| aesco| asseoo| sseor| awosoo| savere| asreor| rovees| oowor| ooeoo| riseos| sseos| zomos| arieos| srseor| ooocon| sascor| asreor| osseor| ooror| aseor] omeoo| oooean| acosco| szzmon
WHEEEERIETERN  soocos| r3scor| osseos| riscor| soserof oooeao| asemco| rwcos| rowcos| ssscor| aoosoo| sreos| zoreos| asteos| satem| rsrcor| oooeco| ooeao| sseor| aros| osseor| oooean| raveos| aweos| azseos| 1sseor| 7aseoe| oseoo| asscor| voseor| osmeor| roseco| raseor| ooomao| owmoo] ooseco| 1asear
WRGENTEM  rocos| 1oocor| roomce raocor| sosero| ooocon| zeseoo riscos| roscos| sroeor| ommoo| wromeo| zoreos| astecs| swiwos| vsicor| ooocao| ovocon| ameor| trieos| osseor| owomon| niocos| aseeoo| easear| sssor] rascor| ooveco| osseon| vosor| ssscor| soeco| resece| omomon| ooneco| ocoeaof raaean

WNAB01 saicor| azen| eoes| cace| assero| ooveo| rasor| cassor| rweos| rreos| aoosco| rsiwos| vssero| svoeos| areas| 13ieor| ocoeoo| oveao| srsor| roreos| rewor| ooean| sseos| zeicon| trieos| 2oicos| saeoe| omeoo| rareor| 2seor| raor| 7rcor| esrece| ooomao| owomoo] owseo| sacear
WNAG02 soscor| soneea| aooecs| ciseer| asomto| oooeao| seeor| sawor| rsseor| srseos| aooeco| rovcos| rssero| siseos| asseas| 120e01| ocomoo| ooeo| sreor| roocor| rooeor| oooean| saeco| 2aseo| vsteos| sueeos| soor| omeo| rooeor| arseor| roowor| reseor| essecs| oooeao| ooomoo) owseo| saceor
WNAB03 somos| atoem| soeon| caor| sorero| ooveao| omeor| smor| twcos| roscos| avocoo| reveos| tssero| aseeos| aseem| 130e01| ooomco| oovo| araor| nseos| roreor| ooocan| sameos| aaseos| rsocos| asreos| soeos| omeno| rorcor| avmeer| soror| 7escor| esseon| ooon| ocoroo) oaseio| saseer

5 WNGEELPAICMN  2oncos| soscon| sascos| -asser| aoocon| omeo| tascor| rreos| sszeos| sascos| oooeco| ooean| a0 ravcos| -asscor| 4zzcan| oosoo| osoeoo| zsscor| ooocen| asocor| ooneoo| 2aseos| soneos| 2vcos| ooneco| acor| aoocon| asscor] ssocor| asecor| roseon| cssor| oomeoo| oooean| acoco| oreon

=

S WWNGEERIVIEMN  2eos| scon| swicos| -asreae| aoocon| omeoo| -tascor| rieos| ssoeos| swucos| oooeco| oooeao| asseto] -racoo| -asseos| asscon| ocosioo osoeoo| zsocor| ooocen| asicor| oomeoo| zeseos| saneos| 2vzcos| ooneco| seicor| ooocon| asicor| ssocor| oreor| rrsmon| csior| oomeoo| oooean| acosco| czmon

= WNGEEEIEMN  ccor| soson| sascor| -asreae| ooocon| omeo| taecor| rieos| asasos| sascor| oooco| ooomao| aireto] raicoo| -asreor| ezocon| ocosioo] osoeoo| zascor| ooocen| assor| oomeoo| 2areos| soreon| 2v0sr| ooneco| sseor| coocon| asscor] ssocor| sseor| roscon| srcor| ooneoo| ooean| acosco| oreon
WA secos| ssmee| sssear| crmece| osoeoo| oooao| seseor| ssomos| -soseos| rizmos| aoosco| raoeto| ssreo| soreos| srean| 2oseeo| ocomoo| ooveao| sezeor| oweo| soreor| oooman| zetcs] roosoo| -vsscos| ssssrof soreor| omeo| soreor| 2oseos| sorcor| wseeor| soreor| ooomao| ooomco] ouseo| zosecr
MURGINTEMI - sscco| emmmn| vascos] ameor| oomeao| ooocn| szmeor| ssscos| rseos| ssceor] omeno| raoer| seerof ssmeos| srasos -2rseoo| ooocaof avocn| ssseor| oooeco| sumeor| ovoeon| ameos| erseon| rszmas] ssseso] soseor| oomeco| sormor| 2steos| sozeor| arzeor| -someor] omoeon| omeo| oooeaof zoaen

WNA601 me| azeon| o] sescor| oomewo| ooocon| soeor| sseos| aomees| oraeor| oweoo| asreos| sszmrof toreos| sacon tsamoo| ooocao| avocn| esscor| asseos| azmeor| owomon| aseos| sereo| asseos| samos| aereor| oomeco| azreor| asnos| wzreor| vseco| 2sreor] ommon| oomeoo| oooeaof zseten
WNA602 me| aorens| aneos] sxcor| oomewo| ooocon| saror| szocos| asoees| sorcos| omeoo| ameos| sererof oaseos| szcon) 1sseoo| ooocao| avocon| ssscor| asseos| zsecor| ocomon| asocos| ssoeoo| aoreas| sasos| ameor| oomeco| zsseor| asoeos| 7sscor| voreco| 2meor| omeon| oomeoo| oooeao| aerion
WNA603 me| avoeee| ameor] sxeo| oooeao| ooocon| saocor| szocos| soiees| szmeor| omeoo| 2meos| sarmrof sareos| sascor) tsoeco| ooozao| aoocon| sascor| asseos| oseor| ocomon| zoocos| ssomoo| aoseae| soseos| 2wcor| ooveco| eseor| asoeos| reseor| voseco| 2saeor| ommon ooneco| oooeaof zsozian

PEP ecopassport 5/5 HAGE-01486-V01.01-EN



